long search(long list[]l, long i, long j, long q) {

if (1> 3) A{ i::K—Té} 1r\f%;4x -
return -1;

H

long mid = (i+j)/2;

if (listImid] == q) {
return mid;

}

if (list[mid] > q) {

return search(list, i, mid-1, q);
} Q;%yo &~
return search(list, mid+1, j, q);
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void bubble_pass(size last, long all) { (;éH\C!£QLL”/ '
! 1

for (size_t i =0; i < last; i +=1) {~ EK/\)

Y [
if (alil > ali+11) { @, if
swap(a, i, i+l);
} L2
}
| |
void bubble_sort(size_t n, long all) {
for (size_t last = n - 1; last > 0; last = 1) { 77— <j>(f\x ﬁﬂéﬁh’

bubble_pass(last, a);
}
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